Motion range of P point

Joint #I
0 pulse position

Angle pulse

Arm #1 revolves £ 70 4951609 pulse

Without mechanical stop| (Without mechanical stop +180°) £5242880 pulse
Arm #2 Lower arm swings -160°. +65 -4660338 pulse. +1893263 pulse
Arm #3 Upper arm swings Single axis -517. 4225 (2767 ) | -1299798 pulse. +5734400 pulse
Arm #4 Wrist revolves £200° +4700057 pulse
Arm #5 Wrist swings £]35 £321 1220 pulse
Arm #6 Wrist rotates £360° 6503600 pulse
AL Joints are in 0 pulse position in this drawing.
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Motion range of P point

Jornt #3 #O
0 pulse position

160°

Top view

¥3 Joint #1 without mechanical stop (180 deg.)
¥4 P point from top with Joint #3 declining -51 deg.
(Jornt #1 center - P point center)
¥5 P point from top with Jorint #3 tilting up +2725 deg.
(Jorint #I1 center - P point centfer)
| Joint #2
VICW 0 pulse position
65 250 476 .5
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q P point X@afo ¥ P point from lateral with Joint #3 declining -51 deg.
139 (Jorint #2 center - P point center)
- ¥2 P point from lateral with Joint #3 tilting up +225 deg.
(Jorint #2 center - P point center)
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